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I 'm mwn: defining liability for ypnm (note: if i occurred after betrothal, he is “stuck” with them, as there was no fraud)
a  if sheis still in her father’s house, assumption that nnn pre-date oy1’® unless she can prove otherwise
b  if sheis already in her husband’s house, assumption that o'mn post-date po1R unless he can prove otherwise
i n™:this applies to any mn
ii  onon: he cannot make such a claim regarding a on that is visible (i.e. on an exposed part of the body)
1 addendum: even a covert mn isn’t actionable if there is a bathhouse in town — he checks her out with his
female relatives
I Analysis
a 1% clause requires father to bring proof that the i was post-Po11R, otherwise, husband’s claim is accepted
i inference: this follows (®”9) Y1 "7 —
b 20 clause require husband to bring proof —
i inference: this follows YX*9n3 "
it solution 1 (71958 77): indeed, authorship of mwn is split
iii  solution 2 (x27): all in accord with Y11 "3, who accepts a7 nptn as long as it doesn’t challenge 11T Npmn
1 proof: ywiv 1 regards pav in a case of sequencing of Ny "o to be NNV
2 however: we'd prefer to associate this mwn with S®Ymi 7.
3 therefore: in each case, we follow RawT nptn only, assuming that the 1mn appeared when she first came to the
place where they were discovered — 11 181 1R¥NI 1R
(a) Challenge: in the 274 clause, the husband must prove that the n’nn were seen before Po11R — but if he
can prove that they were seen in the father’s house, why don’t we apply 1n 181 1R¥n1 18
(b) Answer: once she is betrothed, we apply a npmn that he won’t “drink from a cup w/o checking it” and he
must have seen them and accepted them
(c) Challenge: then why is his claim accepted if he can prove they were pre-po1R — why not say that he
accepted them
(d) Answer: we have another presumption — that no man is pmn> o»ann
(e) Challenge: back to the case of proving post-po11® defects
(f) Answer: in that case, we have 2 mpmn:
(i) qunnpm (Pmn happened as recently as possible)
(if) thathe won’t “drink from a cup w/o checking it” — he must have seen and accepted them
1. potential challenge: why not counter with nprn that no man is % o»ann
2. answer: that’s 2 mpmn vs. 1 — the 1 is ignored
(g) however: where he has n»7y that the n'min were seen before PoYVR, 90 nptn is gone, so we have the npm
that a man won’t “drink from a cup w/o checking it” vs. the nprn that no man is reconciled to Pmin and
therefore the pnn npn keeps the money with him
iv  solution 3: ("WR 11) — supporting authorship of 3"
1  I¢ clause — her claim is that he owes her father nn (since mar% nVIIR NAIN3) — her 1N Nprn is irrelevant
2 2" clause — her claim is that he owes her money (nnxy? nR1WI N2INd)
3 challenge: n™ agrees that even onn found in Yvan ma if they likely started in father’s house, the father has to
prove that they were post-p01R — even though this is a case of nR1Ww1 nan>
4 answer: case is an extra digit which could not have its genesis in husband’s house
5  block: if that’s the case, he saw it and was reconciled
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